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Example 3: A square has one side increased in length by two inches and an adjacent side decreased in

length by two inches, If the resulting rectangle\has an area of 60 square what was the area of the
original square? S
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Example 4: The length of the shortest side of a right triangle 1s X Q{ )( = <g

8 inches. The lengths of the other two sides are

represented by consecutive odd integers. Which

equation could be used to find the lengths of the

other sides of the triangle?
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Example 5: Joe has a rectangular patio that measures 10 feet by
12 feet. He wants to increase the area by 50% and
plans to increase each dimension by equal lengths,
x. Which equation could be used to determine x?
1) (10+x)(12+x) =120

@) (10+x)(12+x) = 180 2 Ft
3) (I5+x)(18+x) =180

2
4) (15)(18) = 120+ [OHJ |ZOH
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